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#1: Item 1

#2: f(x, y, z) := y

#3:
                  2    2 
g(x, y) := ‹(1 - x  - y )

#4: x := r·COS(²)

#5: y := r·SIN(²)

#6: r :− Real (0, –)

#7:
d         
—— g(x, y)
dx        

#8:

    r·COS(²) 
- ———————————
          2  
   ‹(1 - r ) 

#9:
d         
—— g(x, y)
dy        

#10:

    r·SIN(²) 
- ———————————
          2  
   ‹(1 - r ) 

#11:
                d         ‚2   d         ‚2‚
f(x, y, z)·‹¦1 + ¦—— g(x, y)¦  + ¦—— g(x, y)¦ ¦
                dx        ƒ    dy        ƒ ƒ

#12:

 ¹/2                                                           
ˆ     1                                                        
¦    ˆ                  d         ‚2   d         ‚2‚        
¦    ¦  f(x, y, z)·‹¦1 + ¦—— g(x, y)¦  + ¦—— g(x, y)¦ ¦·r dr d²
¦    ‰                  dx        ƒ    dy        ƒ ƒ        
‰     0                                                        
 0                                                             

#13:

 ¹/2                       
ˆ     1                    
¦    ˆ      2              
¦    ¦     r ·SIN(²)       
¦    ¦  - ——————————— dr d²
¦    ¦            2        
¦    ‰     ‹(1 - r )       
‰     0                    
 0                         

#14: Esta integral deben desarrollarla y no copiarla del celular

#15:
 ¹ 
———
 4 


